
l;=g+= gd'gf of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=
1 rDaf]nf ;f]tfdf k'n lgdf{)f u(jf 7 emf/j}/f 15,00,000.—
hDdf ?= 15,00,000.—

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=

1 #f]/fxf sf] /De'gfy rf}w/L sf] #/
b]lv k"j{ blnt ^f]n ;Dd / lht/fd
rf}w/L sf] #/ b]lv klZrd k/L
rf]s / ;]d/L ;sn/fd rf}w/Lsf]
#/ b]lv hl*a'l^ k|zf]wg s]Gb| ;Dd
af^f] u|]en

u(jf 7 #f]/fxf / ;]d/L 2,00,000.—

2 nlIgk'/ ^]s axfb'/ sf] #/ b]lv
;sn/fd rf}w/L sf] k'/fgf] #/ ;Dd
sf] af^f] / zflGtk'/ j/ lkkn b]lv
lx/f jnLsf] #/ ;Dd af^f] u|]en

u(jf 7 nlIgk'/ / zflGtk'/ 1,50,000.—

3 dfgk'/ blIf)f ^f]n xfFl;k'/ s'nf]
b]lv df]ltk'/ ;Dd af^f] u|]en

u(jf 7 1,00,000.—

4 ljhok'/ cd[t a:g]tsf] #/ b]lv
aGwf ;Dd af^f] u|]en

u(jf 7 1,00,000.—

5 nIgk'/ emf/j}/f hf]*\g] af^f] u|]en u(jf 7 1,00,000.—

hDdf ?= 6,50,000.—

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=

1 ;]d/L sf] s'jf d{dt ;+ef/ u(jf 7 1,00,000.—
hDdf ?= 1,00,000.–

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=
1 dfgk'/ lh/}lt s'nf]df *'* lgdf{)f j*f g+= 7 dfgk'/ 1,10,000.–

j*f g+= 7

1=s_ k"af{wf/ lasf; tkm{ M—70 Ü n] -?= 56,00,000.—_

gd'gf of]hgf df ljlgof]hg eO{ ;s]kl% afFsL /xg uPsf] ?=41,00000. nfO{ b]xfo adf]lhd ljlgof]hg ug]{ lg)f{o
u/Lof] .

v_ ;*s tkm{ M—

u_ vfg]kfgL tkm{ M—

1

3_l;rfO{ tkm{



/ ^Lsf/fd rf}w/Lsf] #/ g]/ 60
Pd=Pd sf] 2 yfg xo"dkfO{k
;d]t
hDdf 1,10,000.–

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=
1 rGbgk'/ / ef]hk'/ sf] nflu kf]n

/ tf/ vl/b
j*f g+= 7 2,00,000.–

2= #f]/fxf ju/ / ;]d|/L ;sn/fd
rf}w/L sf] #/ g]/ klZrd ^f]nsf]
nflu 17 yfg kf]n / 2 km]; tf/
sf] nflu

j*f g+= 7 1,70,000.–

3= dfgk'/ :s'nsf] k%f*L ^f]ndf 5
yfg kf]n ,dSgxjf jfGbLjf/L
;Ddsf] nflu 12 yfg kf]n /
rGb|jL/ sf] blIf)f ^f]n nfO{ 3
yfg kf]n u/L hDdf ?=

j*f g+= 7 1,30,000.

4= zflGtk'/ agv]tjfdf 4 yfg kf]n,
zflGtk'/ rf}sLbf/sf] #/ b]lv
pQ/ tkm{ kf]n 5 yfg, ljhok'/
h+untkm{ sf] nflu 5 yfg kf]n
ef]hk'/ lu/f ;'j]bL sf] #/ ;Dd 3
yfg

j*f g+= 7 2,22,000.

5 kf]n / xo"dkfOk vl/b tyf
('jfgL

j*f g+= 7 2,45,000.

hDdf 9,67,000.–

l;
=g+
=

of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=

1 ufFp#/ lsNgLs ;+rfng j*f g+= 7 rGbgk'/ / dfgk'/ 1,00,000.–

2= :jf:Yo :jod;]jLsf / cfs:dLs
sf]if

56,000.–

hDdf 1,56,000.–

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=
1 p=df=lj= u(jf ef}lts k"jf{wf/

lgdf{)f
j*f g+= 7 #f]/fxf 2,30,000.–

2 ;/:jtL cfwf/e"t ljßfnosf]
ef}lts k"jf{wf/ lgdf{)f

j*f g+= 7 rGbgk'/ 1,00,000.–

3 u(jf ax'd'lv SofDk;df ef}lts
k"jf{wf/ lgdf)f{

j*f g+= 6 a]; SofDk 1,00000.–

hDdf 4,30,000.–

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=
1 sfG%L ufFpsf] ;fd'bflos ejg j*f g+= 7 sfG%L ufFp 1,50,000.–

ª_ ljw't tkm{

r_ :jf:Yo tkm{

%_ lzIff tkm{

h_ ;fdflhs ejg lgdf{)f tkm{



lgdf{)f

2 df]ltk'/ ;fd'bflos ejg lgdf{)f u(jf g+= 7 1,70,000.–
3 rGbgk'/ ;fd'bflos ejg lgdf{)f u(jf g+= 7 100,000.–
4 k'/fgf] dlxnf ejg u(jf g+= 7 40,000.–

hDdf 5,60,000.–

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=
1 b'uf{ kf]v|]n sf] #/ g]/ dfgk'/

s'nf]df sNe{^ lgdf{)f
j*f g+= 7 #f]/fxf 2,00,000.–

2 b]jL/fd clwsf/L sf] #/ g]/
#f]/fxf cw'/f] sNe{^ lgdf{)f

j*f g+= 7 1,00,000.–

3 ;/:jtL cfwf/e"t ljßfno
rGbgk'/ sf] af^f]df sNe{^
lgdf)f{

j*f g+= 7 1,25,000.–

4= ^]s axfb'/ s'jF/ sf] #/ b]lv
pQ/ nlIgk'/ sNe{^ lgdf{)f

j*f g+= 7 1,50,000.–

5= u+uf/fd rf}w/L dfgk'/ sf] #/ g]/
sNe{^ lgdf{)f

j*f g+= 7 1,00,000.–

6= sfG%L ufFp blIf)f ^f]n df]ltk'/
sfG%LufFp gofF af^f]df sNe{^
lgdf{)f tyf u|]en

j*f g+= 7 2,00,000.–

hDdf 8,75,000.–

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=
1 dfgk'/ /hs'nfdf 5 yfg 90

Pd=Pd sf] xo"dkfO{k h*fg
j*f g+= 7 dfgk'/ 1,35,000.–

2 nlIgk'/ k'gsf] #/g]/ 90 Pd=Pd
sf] 6 yfg xo"dkfO{k h*fg

j*f g+= 7 1,62,000.–

3 ;]d/L kyflxof s'nf]df 90 Pd=Pd
sf] 2 yfg / ;]d/L kxndfg
rf}w/L sf] #/g]/ uNnL df 45
Pd=Pd sf] 2 yfg u/L hDdf 7
yfg

j*f g+= 7 90,000.–

hDdf 3,87,000.–

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=

1 yDdg s'jF/ sf] #/ g]/ b]lv
c:ktfn ;Dd af^f] u|]en

j*f g+=7 50,000.—

2 emf/j}/f uNnL df 60 Pd=Pd sf] 2
yfg xo"dkfO{k vl/b tyf h*fg

j*f g+=7 50,000.—

3 af]xf]/f sfO{nf nlIfgk'/ 30 Pd=Pd
sf] 8 yfg xo"dkfO{k vl/b tyf
h*fg

j*f g+=7 1,05,000.—

4 df]ltk'/ emf/j}/f k'/fgf] af^f] df 45
Pd=Pd sf] 3 yfg xo"dkfO{k vl/b
tyf h*fg

50,000.—

5 df]ltk'/ sNe{^ lgdf{)f j*f{ g+= 7 1,50,000.—

hDdf 4,05,000.—

em_ sNe{^ lgdf{)f tkm{

`_ xo"dkfO{k vl/b tyf h*fg ug]{

2= k|a${gfTds k"af{wf/ lasf; tkm{ ?=16,80,000.—-zf]x| nfv cl; xhf/_
s_;*s ,xo"dkfO{k tyf sNe{^ tkm{ M



l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=

1 lzj dlGb/ d{dt ;+ef/ j*f g+= 7 #f]/fxf /]vf yfkfsf]
#/g]/

50,000.—

2 nlIgk'/ d)*nL ejg d{dt j*f g+=7 nlIgk'/ 50,000.—

3 cf]d zflGt ejg sf nflu u]^ / af/
lgdf{)f

Jf*f g==7 #f]/fxf 50,000.—

4= dSgxjf lzjfno dlGb/ df zf}rfno
lgdf{)f / Joj:yfkg

Jf*f g==7 dSgxjf 1,50,000.—

5= dfgk'/ hou'?b]j ejg d{dt j*f g+= 7 #f]/fxf 50,000.—

hDdf 3,50,000.—

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=

1 dfgk'/ dlxnf ;d'x ,;f]d}yfg s[lif
;d'x / #f]/fxf ldng s[lif ;d"x

j*f g+=7 60,000.—

2 rGbgk'/ ;'ldqf ofba / /fd axfb'/
rf}w/L sf] #/g]/ l;rfO{ sf] nflu
af]l/ª

j*f g+=7 55,000.—

3 2 yfg df]^/ vl/b rGbgk'/ j*f g=7 50,000.—
4 Zofdnfn g]kfnLsf] #/ g]/ ;fF#'

lgdf{)f / b'uf{ lj=s sf] #/g]/ ^\o"j]n
lgdf{)f

j*f g=7 50,000.—

hDdf 2,15,000.—

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=

1 hgr]tgf d'ns tflnd ;+rfng ;j cfdf ;d'x r]tgfd'ns
sfo{qmd

50,000.—

2 lh/f] xf]d *]lne/L, ;+rfng :jf:Yo rf}ls u(jf 7 50,000.—
3 cflbaf;L hghfltx? nfO{ l;sn;]n

/f]u ;DalGw sfo{s|d
u(jf 7 50,000.—

hDdf 1,50,000.—

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=

1 d]g/f]*df aftfj/)f d]qL agfpg sf
nflu j[Iff/f]k)f af^f]sf] ;fO*df

j*f g+= 7 #f]/fxf 50,000.—

2 dfgk'/ Hof]lt ;f=j sf] cuf*L rf}kf/L
lgdf{)f

j*f g+= 7 dfgk'/ 50,000.—

hDdf 1,00000.—

v_ wfld{s ko{^g

u_ s[lif tyf l;rfO{ tkm{{ M

#_ :jf:Yo tkm{ M

ª_ jg tyf aftfj/)f tkm{ M



l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=

1 dfgk'/ :s'n d{dt ;+ef/ j*f g+= 7 #f]/fxf 75,000.—

2 ;/:jtL lg=df=lj :s'n df lzz' sIff
Joa:yfkg

j*f g+= 7 #f]/fxf 50,000.—

3 afnfv'^L afnsNof)f lg=df=lj :s'n
df lzz' sIff Joa:yfkg

j*f g+= 6 afnfv'^L 50,000.—

hDdf 1,75,000.—

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=

1 v]ns'b ;fdfu|L vl/b tyf k|ltof]lutf
;+rfng

j*f g+= 7 1,35,000.—

hDdf 1,35,000.—

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=

1 #f]/fxf /De'gfy sf] #/ b]lv k"j{
blnt ^f]n 5 yfg kf]n / dhu}ofF
sf] #/ b]lv l%l/ofg sf] ;Dd 5
yfg kf]n

j*f g+= 7 65,000.—

hDdf 65,000.—

r_ lzIff tkm{ M

%_ v]ns'b tkm{ M

h_ ljw't tkm{ M



l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=

1= afnaflnsf tkm{ 15Ü n] 3,60,000.—

2= dlxnf tkm{ 3 Ü n] 72,000.—

3= cflbaf;L hghftL tkm{ 3Ü n] 72,000.—
4= lk%*fju{ tkm{ 3 Ü n] 72,000.—
5= o'jf tyf v]ns'b tkm{ 2 Ü n] 48,000.—
6= blnt tkm{ 2 Ü n] 48,000.—
7= ckfË tkm{ 1 Ü n] 24,000.—
8= h]i& gful/s tkm{ 1 Ü n] 24,000.—

hDdf 7,20,000.—

3= nlIft au{ tkm{ ?=30Ü n] 7,20,000.—
s_ afnaflnsf tkm{ M



l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=

1 lh=lj=; sf] of]hgf cGt/u{t sf] k"j{
ljßfyL{ d+r lgdf{)f

j*f g+=7 #f]/fxf 1,57,600.—

2 dlxnf sf] j*f :t/Lo ;d"x u&g ;fljs u(jf uf=lj=;sf ;a} j*fdf 18,000.—

3 Psn dlxnf #'lDtsf]if ;fljs u(jf uf=lj=;sf ;a} j*fdf 90,000.—

4 ufFp #/ lslNgs 30,000.—

5 lszf]/L x? nfO{ Kof* ljt/)f hGtf p=df=lj df 24,222.25
6= *«k cfp^ %fq%fqf ;xof]u ;fljs u(jf uf=lj=;sf ;a} j*fdf 66,626.55
7 ;]d/Ldf 2 yfg df]^/ vl/b 50,000.—

hDdf 4,36,448.8

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg lalgof]lht /sd ?= s}=

1 dfgk'/ yfkf s^]h b]lv dSgxjf
eujtL rf}w/L sf] #/ ;Dd sNe{^
;lxt af^f] u|]en

j*f g+=7 50 nfv

2 df]ltk'/ sfG%LufpF ;d]/L emf/j}/f rf/}
ufpFsf] gbL s^fg lgoGq)f sf] nflu j*f g+=7

1 s/f]*

3 l;s|xjf k'n b]lv ;]d/L ;Dd blIf)f
;fO{*df s^fg /f]Sg sf] nflu :k/
lgdf{)f

j*f g+=7 50 nfv

4 rGbgk'/ gbL s^fg lgoGq)f ug{
sf nflu gbL lsgf/ ePsf s|];/
pßf]u &fFp ;f/L gbL s^fg /f]Sg]

Jf*f g+=7 50 nfv

hDdf 2 s/f]* 50 nfv

lg)f{o g+= 4= ut cf=j df ;DkGg eO{ e"QmfgL gePsf of]hgf x? M—

lg)f{o g+= 5=

;f=k nfO{ lg/Gt/tf lbg] lg)f{o u/Lof] .

uf=kf af^ dfu ul/g] of]hgf tyf sfo{s|dx? M—


